[image: ][image: ][image: ]Input Data:                 
1. HomeNew DocumentLists & Spreadsheets 

[image: ]2. Type the name of the x-axis data in Box A
3. Type the name of y-axis data in Box B
4. Enter the data in the appropriate column

[image: ]Creating a Scatterplot:               (Note: Your graph may look different at this point – we have not assigned the variables yet!)

[image: ]5. CtrlDocData & Statistics


6. Add the variable to x axis and to the y axis.
[image: ][image: ][image: ][image: ][image: ]


Find the line of Best Fit: 
[image: ][image: ][image: ][image: ]8. MenuAnalyzeRegressionShow linear (mx + b)



9.  Poof! There’s your line of best fit and equation in y = mx + b form.



Correlation Coefficient:
[image: ]10.) Go back to your data table on page 1 (You can push CTRL  Left Arrow to “turn” the page.)




[image: ][image: ][image: ]11.) On the data table: Menu  Statistics  Stat Calculations  Linear Regression (mx + b)



[image: ][image: ]12.) When you get to the Linear Regression “pop-up”, you need to:
 set the x list:				and y list: 



[image: ]13.) After you click ok, you should see the regression information fill in the table.




14.) Identify the ‘r’ value which represents the correlation coefficient.
15.) Using the correlation coefficient, determine if the correlation is positive, negative, or none and if it is strong or weak.


[bookmark: _GoBack]Name: ____________________ Date: __________ Hour: _____
Practice finding the line of best fit with each of the given data sets. Identify the slope, y-intercept and equation for each line.  
1.)
	Ice Cream Sales vs Temperature

	   Temperature °C
	Ice Cream Sales

	14.2°
	$215

	16.4°
	$325

	11.9°
	$185

	15.2°
	$332

	18.5°
	$406

	22.1°
	$522

	19.4°
	$412

	25.1°
	$614

	23.4°
	$544

	18.1°
	$421

	22.6°
	$445

	17.2°
	$408



1. What is the slope and y-intercept? 


2.  What type of correlation is there (if any) between temperature and ice cream sales? 




[image: http://hotmath.com/help/solutions/genericalg1/11/3/Statistics/genericalg1_11_3_Statistics_1_1010/image001.gif] 


2.)

1. What is the slope and y-intercept? 

2.  What type of correlation is there (if any) between wing length and wing beat? 

3.)
	1. What is the slope and y-intercept? 

	2.  What type of correlation is there (if any) 			between height and weight? 

	Height
Inches
	Weight
Pounds

	44
	47

	50
	57

	38.5
	32

	39
	42

	41
	36

	48
	62

	51
	47

	53
	65

	50.5
	65

	46.5
	52

	45
	43

	48
	61






4.)
	Speed (mi/h)

	10
	15
	20
	25
	30
	35
	40
	45

	Stopping Distances (ft.)
	27
	44
	63
	85
	109
	136
	164
	196



1. What is the slope and y-intercept? 

2.  What type of correlation is there (if any) between speed and stopping distance? 




Find slope (m), y-intercept (b) and correlation coefficient (r)


[image: ]


[image: ]		


[image: ]	
image6.png
£ 1:Add Calculator
12:Add Graphs

3:Add Geometry
J4:Add Lists & Spreadsheet

6:Add Notes
7.:Add Vernier DataQuest™




image7.png
[E)> Usaved

485256 606.4 68727680
x




image8.png
(] (] (] (]
R S—
4852 56 60 64 68 7.2 76 80





image9.png
(] (] (<] (]
4852 56 60 6.4 68 7.2 76 80
x





image10.png
Caption: x





image11.png




image12.png
EEEE
3
96

X415

88
>

80

72

485256 606468727680
x





image13.png
Linear (mx+b)
how Linear (a+bx)
13: Show Median-Median
|4: Show Quadratic
how Cubic

6: Show Quartic
how Power

8: Show Exponential
how Logarithmic

|A: Show Sinusoidal




image14.png
[E 1: Plot Type.

[ 2: Plot ProperfX 1: Remove
K 3: Actions / 2: Add Movable Line
4 8 3: Lock Intercept at Zero
1 5: Window/Zod\\) 4: Plot Function
> I\ 5: Shade Under Functi
80
Residuals
72
Plot Value
o5 how Normal PDF

/4L A: Graph Trace





image15.png
[E=1: Plot Type »
[ 2: Plot Properties »
K 3: Actions »

[l 5: Window/Zoom )
>

80

72

[
485256606468727680





image16.png
1 One-Variable Staistics
[2: Two-Variable Statistics..

l4: Linear Regression (a+bx).
5: Median-Median Line

6: Quadratic Regression...
7: Cubic Regression...

'8: Quartic Regression.

9: Power Regression...

/A Exponential Regression..

|3: Linear Regression (mx+b). ..

s
Intervals M|





image17.png
= 1: Actions |

(&12: Insert ¥ Ic D I
23: Data »

]
5. Table __»|  2: Distributions »
> A 3: Confidence Intervals b
= 4 Stat Tests »
J 7
4 8 7
s |
]





image18.png
Data
Statistics M|

95: Table _ »)

L3 o B
3 7| .
4 A S
s

o]

KD





image19.png
4| Linear Regress

saveRegEqto[m ||
Frequencylist 1 | ]

Include Cateqories: ™

Xz

\&| |cancel





image20.png
Save RegEan o
FrequencyLis l:l

Include Cateqories: ™

\&| |cancel

L3





image21.png




image22.gif
Bird Crow | Owl | Eagle | Parrot | Raven
Wing length | 340 | 360 | 410 | 280 | 380
Wingbeat rate

35 [32] 23 | 42 | 29

(beatsls)





image23.png
wl

o

X List: | b |

Y List:

Save RegEqn to:

Frequency List:
Category List:

Include Cateqories:

B

for| [cance

>





image24.png
1.2

1.1

@A x

10|RegEqn
Sim

8|b

7\

5

"m-x+b"

D2





image1.png
*Unsaved <





image2.png
&= 1:Add Calculator
2:Add Graphs
3:Add Geometry
X

\15:Add Data & Statistics

6:Add Notes

7:Add Vernier DataQuest™





image3.png
New Document




image4.png




image5.png




